Plasma: The Basics

Anyone who's played the game for a while knows this: Plasma hurts! As long as it hits…Plasma has a 100% chance of hitting because it's a seeking weapon. But there can be some strikes against plasma actually doing any damage:

1) Distance vs Damage- the further the torp has to travel, the less damage there is. The table here compares the different classes:

Torpedo
Range / Damage

Type

R
0 - 10
11-15
16 - 20
21 - 25
26 - 28
29
30

(Max Range)


50
35
25
20
10
5
1

Type

S
0 - 10
11 - 15
16 - 20
21 - 23
24
25

(Max Range)



30
22
15
10
5
1


Type

G
0 - 10
11 - 15
16 - 18
19
20

(Max Range)




20
15
10
5
1



Type 

F 

(I is identical)
0 - 5
6 - 10
11 - 12
13-14 
15

(Max Range)




20
15
10
5
1



2) Sensor Decoys (Wild Weasels) - these are a target decoy shuttle, which causes the torp to target it instead of the ship that launched the WW. Some things to remember about these - it takes a while to create one, they use 1 point of power to use as soon as conversion begins, and the larger the ship, the longer it takes to slow it down to launch one (depending on how fast it's going- at speed 4 or less, emergency deceleration does not apply)

3) Phaser Fire - torp damage is reduced by 1 for every 3 points of phaser fire, it can even be destroyed

4) ECM - Single Player: plasma has the benefit of built-in 3 ECCM. If the target has 4 ECM or more, damage is reduced

  - Multi player: Plasma torps always do 100% damage based on range regardless of ECM shift 

5) Terrain - torps take damage in a nebula, the nebula has the natural ECM of 9 (3 shift), subtract the 3 ECCM of the torp equals 6 to give an attack shift of 2 against it. (single player)

Plasma takes 3 turns to charge, except in the case when a "F" torp is charged in a "R", "S", or a "G" launcher, which takes 2 turns. They are held using 1 point of energy in this case- an "F" in a "F" launcher takes no energy to hold. 

Plasma Torpedoes Charging and Holding Cost Information: - 

Plasma Torpedo Type
Normal  Charge/3 turns
Normal Holding Cost
Enveloping-Defensive Charge/3 turns
Enveloping-Defensive Holding Cost
Defensive F Torps Produced

R Torp
9
4
14
8
5

S Torp
8
2.33
12
6
3

G Torp
7
1.5
10
5
2

F (I) Torp
5
0
N/A
N/A
N/A

X Torp (sp40)
8
5
N/A
N/A
N/A

E Torp (Snare)
8
1
N/A
N/A
N/A

Destroyed Plasma Launchers can hold and launch a completed torpedo for a very short time. Too long and the torp degenerates and is lost.

Plasma Firing Modes

1) Normal - obviously, the normal torp - standard charging rates apply

2) Enveloping - Extra energy is applied when charging. Holding cost is increased. Damage of the torp is doubled, but the damage is divided evenly upon each of the 6 shields.

3)   Shotgun - Extra energy is applied when charging. Holding cost is increased. This is commonly used as a defensive torpedo against shuttles. Depending on which launcher it was charged in, up to 5 "F" torpedoes can be created:

· R - 5 F's

· S - 3 F's

· G - 2 F's

4) Pseudo (PPT) - No energy is required to fire. These are torp shells that do no damage, but appear to be the real thing while in flight. These should be used sparingly since they do take a while to use again in each launcher. However, they are very effective for a needed diversion, or target phaser diversion through point defence.

Plasma Damage vs Target Speed

By now, we know that plasma degrades over distance traveled. Considering the time and energy needed to create a torpedo, it's in your best interest to fire when you're sure of doing damage. In most cases, you don't want to fire plasma at a fleeing target. Despite plasma having a speed of 36, your target is moving, making the distance traveled even greater for plasma to hit. Obviously, the slower your target is moving, the better your chances are for any damage to be inflicted. The faster he's moving, the closer you'll have to get before firing. 

Situation: a ship is directly fleeing from you. Knowing you need to get closer to fire, you try to decrease range with a greater speed, but how do you know when to fire? 

(Tar Minyatur has come up with the figures. The rest of this article is in his words)

This table shows the range vs speed to gain 10 points of "normal" plasma torpedo damage (assuming even target speed):

Target speed
Plasma R
Plasma S
Plasma G
Plasma F
Range                    To Target

31
3.8
3.2
2.5
1.7


30
4.7
3.8
3.0
2.0


29
5.4
4.5
3.5
2.3


28
6.2
5.1
4.0
2.7


27
7.0
5.7
4.5
3.0


26
7.8
6.4
5.0
3.3


25
8.6
7.0
5.5
3.7


24
9.3
7.6
6.0
4.0


23
10.1
8.3
6.5
4.3


22
10.9
8.9
7.0
4.7


Note- enveloping plasma torpedoes do 3.3 points of damage per shield at these ranges

Here's the equation: Range = (plasma speed - fleeing ship's speed)(Plasma Category/36) Since plasma speed is a constant (36) we get: Range = (36 - fleeing ship's speed)(Plasma Category/36) (plasma speed - fleeing speed) is the "Overtaking Rate". A plasma torpedo will go a distance of 36 in a "turn". A ship will go its speed in a "turn". (A turn is a unit of time from SFB = about 25 seconds in SFC at game speed 7). For example, a torpedo (speed 36) would gain 5 on a ship that goes speed 31 in a "turn." 

The "Plasma Category" is the greatest distance a torpedo can go and still do 10 points of damage. I chose this category since 10 points of damage generally makes firing the torpedo worthwhile. The SFB weapons chart indicates that these torps will do 10 damage after going a certain distance: "R" = 28, "S" = 23, "G" = 18, and "F" = 12. (Plasma Category/36) represents the fraction of a turn that will pass until the torpedo reaches its Plasma Category. For example, a "G" will take 18/36 of a turn (12.5 seconds) to degrade to a 10-point warhead. A short ranged "F" will take 12/36 (8.3 seconds) to degrade to 10 pts. Therefore: amount of overtaking = (Overtaking Rate)(Fraction of Turn) 

Imagine the speed 31 ship paralleling a Type-G torpedo. If they start from the same point the torpedo will travel a distance of 18 and do 10 points of damage in half a turn. The ship will go a distance of 15.5. The plasma will lead by a distance of 2.5. The ship obviously needs a head start in order to avoid serious damage! Therefore, the minimum distance between the ships must be this amount of cumulative overtaking at the instant of firing. In other words, this is the current range to the target.

 Here's a complete scenario. A pursuing ship has type "F" torps. The enemy target is fleeing at 31. The commander computes the minimum range: Range = (36-31)(12/36) = 5(1/3) = 1.7 The Gorn curses since the range is 2.5 and his phasers are destroyed, if only he had "S" torps... But he smiles as his tractor grabs hold. "I've got you now, Rommie." In summary: hold those torpedoes as a deterrent and use your phasers for offense. * An EPT (Enveloping plasma torpedo) will do double the damage of a standard torp. However, 6 shields divide this damage. So an EPT "G" will do 20 points after travelling 18. Therefore, 20 damage divided by 6 shields = 3.3/shield. 

